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1 Introduction

The motion of a gas in local thermodynamic equilibrium is governed by the compressible

Euler equations. In Lagrangian coordinates, the equations for one dimensional flow read (cf.

[1]): 
vt − ux = 0,

ut + px = 0,

(e+ u2

2
)t + (pu)x = 0,

(1.1)

where where v, u, p and e are, respectively, the specific volume, velocity, pressure and internal

energy of the gas. For an ideal gas

e =
1

γ − 1
pv, (1.2)

where γ > 1 is the adiabatic constant. During rapid changes in the flow the internal energy

e may lag behind the equilibrium value corresponding to the ambient pressure and density.

The translational energy adjusts quickly, but the rotational and vibrational energy may

take an order of magnitude longer. If we suppose that α of the degrees of freedom adjust

instantaneously but a further αr degrees of freedom take longer to relax, we may take (cf.

[2]):

e =
α

2
pv + q, (1.3)

where q is the energy in the lagging degress of freedom. In equilibrium, q would have the

value

qequil =
αf

2
pv. (1.4)

A simple overall equation to represent the relaxation is (in Lagrangian coordinates) :

qt = −1

τ
(q − αf

2
pv), (1.5)
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where τ > 0 is the relaxation time. Therefore, in thermal nonequilibrium, we have the

following system of equations to model the gas motion:
vt − ux = 0,

ut + px = 0,

(α
2
pv + q + u2

2
)t + (pu)x = 0,

qt = − 1
τ
(q − αf

2
pv).

(1.6)

If the relaxation time τ is taken to be so short that q =
αf

2
pv is an adequate approximation

to the last equation in (1.6), we have the following equilibrium theory:
vt − ux = 0,

ut + px = 0,

(
α+αf

2
pv + u2

2
)t + (pu)x = 0.

(1.7)

The three characteristic speeds for (1.7) are:

λ1 = −

√
(1 +

2

α + αf

)
p

v
, λ2 = 0, λ3 =

√
(1 +

2

α + αf

)
p

v
.

For system (1.7), ((v−, u−, p−), (v+, u+, p+), σ) with two constant states (v−, u−, p−) and

(v+, u+, p+) and speed σ is called a shock wave (cf. [1]) if the following Rankine-Hugoniot

conditions
−σ(v+ − v−) = (u+ − u−),

σ(u+ − u−) = (p+ − p−),

σ{(α+αf

2
p+v+ +

u2
+

2
)− (

α+αf

2
p−v− +

u2
−
2
)} = (p+u+ − p−u−),

(1.8)

hold, and some other entropy conditions hold, where v−, v+, p−, p+ are positive constants,

u− and u+ are constants. A shock wave is called a 1-shock wave if

−

√
(1 +

2

α + αf

)
p−
v−

> σ > −

√
(1 +

2

α + αf

)
p+
v+

. (1.9)

A shock wave is called a 3-shock wave if√
(1 +

2

α + αf

)
p−
v−

> σ >

√
(1 +

2

α + αf

)
p+
v+

. (1.10)

In this paper, we consider a 3-shock wave, because a 1-shock wave can be handled by the

same method. For a 3-shock wave, it follows from (1.8) and (1.10) that,

v− < v+, u− > u+, p− > p+. (1.11)
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A shock profile for the 3-shock wave ((v−, u−, p−), (v+, u+, p+), σ) is a traveling wave

solution for system (1.6) of the form (v, u, p, q)(x−σt
τ

) satisfying

(v, u, p, q)(±∞) = (v±, u±, p±,
αf

2
p±v±). (1.12)

So we have
−σv′ − u′ = 0,

−σu′ + p′ = 0,

−σ(α
2
pv + q + u2

2
)′ + (pu)′ = 0,

−σq′ = −(q − αf

2
pv),

(1.13)

where ′ = d
dξ

and ξ = x−σt
τ

.

In this paper, we are interested in the existence and properties of the shock profile. For

general hyperbolic system with relaxation, the existence of the shock profile has been proved

in [3] by using the center manifold method with the assumption that the shock strength

is sufficiently small. In this paper, we find the sufficient and necessary condition, which is
p−
p+

< 1 +
2αf

α(1+α+αf )
, to ensure the existence of the shock profile. Moreover, we can calculate

the shock profile solution in some explicit details. This is in sharp contrast to the abstract

construction in [3]. Before we state our theorem, we introduce some notations. Let
m = σv− + u− = σv+ + u+,

P = −σu− + p− = −σu+ + p+,

Q = −σ(
α+αf

2
p−v− +

u2
−
2
) + p−u−

= −σ(
α+αf

2
p+v+ +

u2
+

2
) + p+u+,

(1.14)

f(v) = −σ2(1 +α)v+ (1+
α

2
)(σ2v− + p−) = −σ2(1 +α)v+ (1+

α

2
)(σ2v+ + p+). (1.15)

Our theorem is the following:

Theorem 1 Suppose the two constant states (v−, u−, p−), (v−, u−, p−) and the speed σ

satisfy the Rankine-Hugoniot conditions (1.8) and the Lax shock condition (1.10). Then,

1) If

p−
p+

< 1 +
2αf

α(1 + α + αf )
, (1.16)

then there exists a solution to the problem (1.13) and (1.12).

2) If

p−
p+

≥ 1 +
2αf

α(1 + α + αf )
, (1.17)
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the problem (1.13) and (1.12) does not admit a smooth solution.

3) In case 1), i. e., if (1.16) holds, the solution of the problem (1.13) and (1.12) satisfying

v(0) = v0 for some constant v0 satisfying v− < v0 < v+ is giving by

2f(v+) (ln(v+ − v)− ln(v+ − v0))− 2f(v−) (ln(v − v−)− ln(v0 − v−))

= −σξ(1 + α+ αf )(v+ − v−), (1.18)

u(ξ) = m− σv(ξ), p(ξ) = mσ + P − σ2v(ξ). (1.19)

for −∞ < ξ < +∞. For this solution, we have

v′(ξ) > 0, u′(ξ) < 0, p′(ξ) < 0, (1.20)

for −∞ < ξ < +∞, and

C1 exp

(
−1 + α + αf

2f(v+)
σ(v+ − v−)ξ

)
≤ v+ − v(ξ), v′(ξ)

≤ C2 exp

(
−1 + α + αf

2f(v+)
σ(v+ − v−)ξ

)
(1.21)

for ξ > 0,

C3 exp

(
1 + α + αf

2f(v−)
σ(v+ − v−)ξ

)
≤ v(ξ)− v−, v′(ξ)

≤ C4 exp

(
1 + α + αf

2f(v−)
σ(v+ − v−)ξ

)
(1.22)

for ξ < 0, where Ci (i = 1, 2, 3, 4) are some positive constants. For u(ξ) and p(ξ), we have

the similar estimates.

2 Proof of Theorem 1

In this section, we give a proof of the Theorem 1.

We integrate (1.13) to get
σv + u = m,

−σu+ p = P,

−σ(α
2
pv + q + u2

2
) + (pu) = Q,

(2.1)
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where m, P and Q are given by (1.14) By the third equation of (2.1), we have:

q = −
(
α

2
pv +

u2

2

)
+

pu−Q

σ
, (2.2)

Substituting (2.2) into the fourth equation of (1.13), using (2.1) and (2.2), we get

f(v)
dv

dξ
=

1

σ

(
α + αf

2
pv +

u2

2
− pu−Q

σ

)
, (2.3)

where f(v) is given by (1.15) So

f(v−) = v−

(
−α

2
σ2 + (1 +

α

2
)
p−
v−

)
. (2.4)

In view of (1.10), we have

− α

2
σ2 + (1 +

α

2
)
p−
v−

> −α

2
(1 +

2

α + αf

)
p−
v−

+ (1 +
α

2
)
p−
v−

=

(
1− α

α + αf

)
p−
v−

> 0. (2.5)

Therefore

f(v−) > 0.

By (1.15), we get

f(v+) = v+

(
−α

2
σ2 + (1 +

α

2
)
p+
v+

)
. (2.6)

Let

v̄ =
1 + α

2

1 + α

σ2v+ + p+
σ2

. (2.7)

Then

f(v̄) = 0. (2.8)

So, if

v+ < v̄, (2.9)

then

f(v+) > 0. (2.10)
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In the next lemma, we will give a neat condition to ensure (2.10).

Lemma 2.1 1) If p−
p+

< 1 +
2αf

α(1+α+αf )
, then v+ < v̄ and thus f(v+) > 0.

2) If p−
p+

= 1 +
2αf

α(1+α+αf )
, then v+ = v̄ and f(v+) = 0.

3) If p−
p+

> 1 +
2αf

α(1+α+αf )
, then v+ > v̄ and f(v+) < 0.

Proof. First, we use (1.8) to show that

α + αf

2
(p+v+ − p−v−) = (v− − v+)

p+ + p−
2

. (2.11)

In fact, by the third equation of (1.8), we have

α + αf

2
(p+v+ − p−v−)

=
1

σ
(p+u+ − p−u−)−

u2
+ − u2

−

2

=
1

σ
(p+u+ − p−u−)−

u+ + u−

2
(u+ − u−). (2.12)

By the second equation of (1.8), we have (u+−u−) =
1
σ
(p+−p−). This, together with (2.12),

implies that

α + αf

2
(p+v+ − p−v−)

=
1

σ

(
p+u+ − p−u−)−

p+ − p−
2

(u+ + u−)

)
=

1

σ

(
1

2
p+u+ − 1

2
p−u− − 1

2
p+u− +

1

2
p−u+

)
=

1

σ
(u+ − u−)(p+ + p−). (2.13)

This proves (2.11). Divided by p−v+ both sides of (2.11), we get

α + αf

2

(
p+
p−

− v−
v+

)
=

(
v−
v+

− 1

) p+
p−

+ 1

2
.

We solve for v−
v+

from this to get

v−
v+

=
(α + αf )

p+
p−

+ p+
p−

+ 1

(α + αf ) +
p+
p−

+ 1
. (2.14)

It is easy to verify that v+ < v̄ is equivalent to

σ2 < (1 +
2

α
)
p+
v+

. (2.15)

From the first and second equations of (1.8), we know that

σ2 =
p− − p+
v+ − v−

(2.16)
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So v+ < v̄ is equivalent to

p− − p+
v+ − v−

< (1 +
2

α
)
p+
v+

(2.17)

Now we use (2.14) to show (2.17) if (1.16) is true.

By (2.14), we have

p− − p+
v+ − v−

=
(p−
p+
)− 1

1− (v−
v+
)
(
p+
v+

)

=
(p−
p+
)− 1

1−
(α+αf )(

p+
p−

)+(
p+
p−

)+1

(α+αf )+(
p+
p−

)+1

(
p+
v+

)

=
(p−
p+
)− 1

(α + αf )(1− p+
p−
)
[(α + αf ) +

p+
p−

+ 1](
p+
v+

)

=
(p−
p+
)− 1

1− (p+
p−
)
(1 +

(p+
p−
) + 1

α+ αf

)(
p+
v+

)

=
(p−
p+
)(p−

p+
− 1)

(p−
p+
)− 1

(1 +
(p+
p−
) + 1

α + αf

)(
p+
v+

)

= (
p−
p+

)(1 +
(p+
p−
) + 1

α + αf

)(
p+
v+

)

= (
p−
p+

+
1

α + αf

(1 +
p−
p+

))(
p+
v+

)

= ((1 +
1

α + αf

)(
p−
p+

) +
1

α + αf

)(
p+
v+

) (2.18)

So, if (1.16) holds, then we have

(1 +
1

α + αf

)
p−
p+

+
1

α+ αf

< (1 +
1

α + αf

)(1 +
2αf

α(1 + α + αf )
) +

1

α+ αf

= 1 +
1

α + αf

(2 +
2αf

α(1 + α + αf )
) +

2αf

α(1 + α+ αf )

= 1 +
1

α + αf

(
2α(1 + α + αf ) + 2αf

α(1 + α + αf )
) +

2αf

α(1 + α + αf )

= 1 +
2

α + αf

(α + αf )(1 + α)

α(1 + α+ αf )
+

2αf

α(1 + α+ αf )

= 1 +
2(1 + α)

α(1 + α + αf )
+

2αf

α(1 + α + αf )

= 1 +
2

α
(2.19)
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(2.17) follows from (2.18) and (2.19). This proves 1). 2) and 3) follow from the same argu-

ments.

Proof of Theorem 1:

Let

G(v) = (α + αf )pv + u2 − 2(pu−Q)

σ
(2.20)

It yields from (1.14) and (2.20) that

G(v) = (α+αf )(mσ+P −σ2v)v+(m−σv)2− 2

σ

(
(m− σv)(mσ + P − σ2v)−Q

)
, (2.21)

where m,P,Q are given in (1.14) So, G(v) is a quadratic function of v. Moreover, by (1.14)

and (1.15), we have

G(v+) = G(v−) = 0. (2.22)

Therefore,

G(v) = −β(v − v−)(v − v+) (2.23)

for some constant β. By comparing (2.22) with (2.21), we get β = σ2(1 + α + αf ) Hence,

G(v) = −σ2(1 + α + αf )(v − v−)(v − v+) (2.24)

So

G(v) > 0 (2.25)

as v− < v < v+.

In case 1), we choose a constant v0 satisfying v− < v0 < v+ and set v(0) = v0. Then we have

from (2.3) that∫ v

v0

2f(v)

G(v)
dv =

1

σ
ξ. (2.26)

Also, by Lemma 2.1, and (2.24), we have, if

p−
p+

< 1 +
2αf

α(1 + α + αf )
,

then f(v)
G(v)

> 0 for v− < v < v+, and∫ v+

v0

2f(v)

G(v)
dv = +∞, (2.27)
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∫ v−

v0

2f(v)

G(v)
dv = −∞. (2.28)

Therefore, the map: ξ → v(ξ) is a one-to-one and onto map from (−∞,+∞) to (v−, v+).

Moreover, it follows from (2.27) and (2.28) that

v(−∞) = v−, v(+∞) = v+.

This proves 1) in Theorem 1.

If

p−
p+

≥ 1 +
2αf

α(1 + α + αf )
, (2.29)

by Lemma 2.1, we know that v− < v̄ ≤ v+. In this case, we use the proof by contradiction to

prove 2) in Theorem 1 as follows. Suppose that the problem (1.12) and (1.13) has a solution

v(ξ). Since in this case, v− < v̄ ≤ v+, and f ′(v) < 0, we have f(v−) > 0 ≥ f(v+). We may

write (2.3) as

2σf(v)
dv

dξ
= G(v). (2.30)

Since v(−∞) = v− and f(v) > 0 for v− < v < v̄ and G(v) > 0 for v− < v < v+, we have
dv
dξ

> 0 when v− < v < v̄ < v+. For a constant v1 satisfying v− < v1 < v̄, there exists

ξ1 ∈ (−∞,+∞) such that v(ξ1) = v1. It follows from (2.30) that∫ v

v1

2σf(w)

G(w)
dw = ξ − ξ1. (2.31)

By (1.15), we know that f(v) is a linear function of v in the form

f(v) = −k(v − v̄), (2.32)

where k = σ2(1 + α). It follows from (2.23), and the fact that v− < v < v̄ ≤ v+ ( when

(2.29) holds) that∫ v̄

v1

2σf(w)

G(w)
dw < +∞. (2.33)

We let

ξ̄ = ξ1 +

∫ v̄

v1

2σf(w)

G(w)
dw.

Then by (2.30), we can conclude that, as ξ → ξ1, v(ξ) → v̄ and dv(ξ)
dξ

→ +∞. This proves 2)

in Theorem 1.

We can prove 3) in Theorem 1 as follows. We have already proved that if p−
p+

< 1+
2αf

α(1+α+αf )
,
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the the problem (1.13) and (1.12) has a soluion. In this case, v′(ξ) > 0 is an easy consequence

of the above argument in 1). So v− < v(ξ) < v+ for −∞ < ξ < +∞. Next, we prove (1.18).

We may write (2.26) as, in view of (2.26) and (2.24)∫ v

v0

2f(w)

(w − v−)(w − v+)
dw = −σ(1 + α + αf )ξ (2.34)

It is easy to verify that, by noting that f(w) = (1 + α
2
)m− σ2(1 + α)w (see (1.15))

2f(w)

(w − v−)(w − v+)
=

−2f(v−)

(w − v−)

1

(v+ − v−)
+

2f(v+)

(w − v+)

1

(v+ − v−)
(2.35)

(1.18) then follows from (2.34) and (2.35). From (1.18), we can easily get the bounds for

v+ − v(ξ) in (1.21). Similarly, we can get the bounds for v(ξ)− v− in (1.22). By (1.18), we

have

(2f(v+)
v+−v

+ 2f(v−)
v−v−

)v′(ξ) = −σ(1 + α + αf )(v+ − v−)

Therefore, the bounds for v′(ξ) in (1.21) and (1.22) can be derived from the bounds of

v+ − v(ξ) and v(ξ)− v− which we have just proved. This finishes the proof of Theorem 1.

Acknowledgement

This work is done under the supervision of Professor Tao Luo.

References

[1] R. Courant, K. O. Friedrichs, Supersonic Flow and Shock Waves, Springer-Verlag, New

York, Berlin, Heidelberg, 1999.

[2] G. B. Whitham, Linear and nonlinear waves, Wiley, New York, 1974.

[3] Wen-An Yong & Kevin Zumbrun, Existence of relaxation shock profiles for hyperbolic

conservation laws, SIAM J. Appl. Math. 60, pp. 1565-1575, 2000 .

10

O01

Page - 262


	P papers.pdf
	E07
	E12
	M02
	M05
	M37
	N11
	N14
	1. Introduction
	1.1 Original Problem and Background
	1.2 Motivation
	1.3 Main Results

	2 Variations of the Original Problem and Corresponding Researches
	2.1 Time Generalization and Radix Scheme
	2.1.1 Radix Scheme and Discrete Hypothesis
	2.1.2 Proof of Optimality
	2.1.3 Conclusions and Other Variations

	2.2 Realistic Restriction and Chart-Filling Method
	2.2.1 Chart-Filling Method
	2.2.2 Proof of Feasibility
	2.2.3 Conclusions and Other Variations

	2.3 Two-Poison Replacement and Grouping-Coordinate Scheme
	2.3.1 Coordinate Scheme
	2.3.2 Grouping Method and Coordinate-Grouping Scheme
	2.3.3 New Problem and Compatibility
	2.3.4 Qualitative Analysis of 𝒇(𝒏)
	2.3.5 Further Study of Lower Bounds
	2.3.6 Quantitative Computation of 𝒇(𝒏)
	2.3.7 Informatics method and upper bound for 𝒄(𝒏)
	2.3.8 Summarization


	3. Conclusion
	Acknowledgement
	Appendix I Source Code of Search Algorithm in C++
	Appendix II Source Code of Random Construction in Free Pascal
	Appendix III Time data for Random Program
	Appendix IV Corresponding Solutions for Quantitative Analysis of 𝒇(𝒏)

	N17
	S02
	THERE IS A NON-VAN DOUWEN MAD FAMILY
	丘成桐决赛

	S07
	S14
	O01




